
Name:

PID:

Seat Number:

To a�rm your commitment to academic integrity,

write out the phrase “I excel with integrity”

MATH 180A (B00) PRACTICE EXAM 2a 11/20/19

INSTRUCTIONS — READ THIS NOW

• Write your name, PID, and current seat number, and write out the

academic integrity pledge in the indicated space above. Also, write your

name and PID on every page. Your score will not be recorded if

any of this identifying information is missing, or if the academic integrity

pledge is illegible.

• Write within the boxed areas, or your work will not be graded. If you

need more space, raise your hand. To receive full credit, your answers

must be neatly written and logically organized.

• To ask questions during the exam, remain in your seat and raise your

hand. Please show your ID to a proctor when you hand in your exam.

• You may not speak to any other student in the exam room while the

exam is in progress (including after you hand in your own exam). You

may not share any information about the exam with any student who

has not yet taken it.

• Turn o↵ and put away all cellphones, calculators, and other electronic

devices. You may not access any electronic device during the exam

period. You may use your one double-sided page of hand-written notes,

but no other books, notes, or aids.

• This is a 50-minute exam in design, but you have up to 2 hours to

complete it. There are 5 problems on 5 pages, worth a total of 50 points.

Read all the problems first before you start working on any of them, so

you can manage your time wisely.

• Have fun!

Solutions
Ad
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Name: PID: (P. 3)

1. Suppose that the time it takes for you to complete your probability homework is distributed

according to an exponential random variable with mean 1 hour. You start your homework at 8:00

PM. Your bedtime is 10:00 PM. If you finish your homework before your bedtime, you watch TV

until your bedtime and then go to sleep. If you do not finish by your bedtime, you go to sleep

anyway, and so you do not watch TV at all. Let Y be the random variable that measures the

amount of time in hours that you spend watching TV.

(a) (6 points) Calculate the CDF of Y .

(b) (4 points) Calculate the expected value E[Y ].
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2. (10 points) Let X ⇠ Poisson(�). Compute
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Name: PID: (P. 7)

3. (10 points) Suppose that we plan to interview n randomly chosen individuals to estimate the

unknown fraction p 2 (0, 1) of the population that likes ice cream. Let p̂ =
Sn
n be the random

variable that records the proportion of the individuals who say they do like ice cream. How many

people must we interview to have at least a 95% chance of capturing the true fraction p with a

margin of error .01? You may leave your answer in terms of the inverse �
�1

of the CDF of the

standard normal.
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Name: PID: (P. 9)

4. Suppose that the random variable X has p.d.f.

f(x) =
�

2
e��|x|, for some � > 0.

(a) (5 points) Compute the moment generating function MX(t) of X.

(b) (5 points) Use the moment generating function to compute the nth moment of X.
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Name: PID: (P. 11)

5. (10 points) Let X ⇠ N (0, 1). Compute the p.d.f. of the random variable
1

1+X2 . You may leave

your answer in terms of the density ' of the standard normal.
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Name: PID: (P. 13)

6. [Extra] (10 points) Show that there is no random variable X with moment generating function

MX(t) such that MX(1) = 3 and MX(2) = 4.

Solutions A ¢
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.
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Name:

PID:

Seat Number:

To a�rm your commitment to academic integrity,
write out the phrase “I excel with integrity”

MATH 180A (B00) PRACTICE EXAM 2b 11/20/19

INSTRUCTIONS — READ THIS NOW

• Write your name, PID, and current seat number, and write out the
academic integrity pledge in the indicated space above. Also, write your
name and PID on every page. Your score will not be recorded if
any of this identifying information is missing, or if the academic integrity
pledge is illegible.

• Write within the boxed areas, or your work will not be graded. If you
need more space, raise your hand. To receive full credit, your answers
must be neatly written and logically organized.

• To ask questions during the exam, remain in your seat and raise your
hand. Please show your ID to a proctor when you hand in your exam.

• You may not speak to any other student in the exam room while the
exam is in progress (including after you hand in your own exam). You
may not share any information about the exam with any student who
has not yet taken it.

• Turn o↵ and put away all cellphones, calculators, and other electronic
devices. You may not access any electronic device during the exam
period. You may use your one double-sided page of hand-written notes,
but no other books, notes, or aids.

• This is a 50-minute exam in design, but you have up to 2 hours to
complete it. There are 5 problems on 5 pages, worth a total of 50 points.
Read all the problems first before you start working on any of them, so
you can manage your time wisely.

• Have fun!

Solutions
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Name: PID: (P. 3)

1. (10 points) One of the nationwide TV channels wants to determine the level of support of Yuriy
N. for the future presidential elections in one of the European countries. For this, they poll n
randomly chosen individuals. How large should n be to get a 95% confidence interval of size 0.1
for the true value p of support of Yuriy N. among the population? [Hint. You can find the table
of values of �(x) on the last page of this exam].
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Name: PID: (P. 5)

2. (10 points) The probability that a person living in SD has taken the MATH 180A Introduction
to Probability class is 10�3. You interview 250 randomly chosen people. Estimate the probability
that there will be at least 2 among them who took MATH 180A (you can use the fact that ex ⇡ 1+x
for x small). Justify your choice of approximation.

Solutions A¢
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Name: PID: (P. 7)

3. You are waiting for the South Campus Shuttle. From experience, you know that on average
they come every 12 minutes, but their arrival times are random. You get distracted playing The
Legend of Zelda: Link’s Awakening on your Nintendo Switch, and don’t notice when the buses
goes by.

(a) (4 points) Find the intensity � (in units of 1/hours) of the Poisson process that models the
bus arrival times.

(b) (6 points) What is the probability that 3 buses go by in the first 18 minutes you’re playing,
and then no buses come in the following 12 minutes?
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Name: PID: (P. 9)

4. Let X be a continuous random variable with m.g.f. MX(t) = e8t
2
.

(a) (4 points) Find the p.d.f. of X.

(b) (6 points) Compute the p.d.f. of the random variable X3 + 1 in terms of the p.d.f. of X.

Solutions Aol

If ZNNCO
,
D
,
MzHH ft42 .

"- f G > o, Moz A) = # let8) z # (pktt)
- Malott . jst't

Now ft
'

. e¥K→ y ' EET
L

i. Mx is the MGF of 42 .

Because Mikes on a wind of o, ⇒ xn4711916)

So fxtn) = ¥.y f-"42-4 = 4¥ e-"48

First find CDF : xta strictly increasing bijection

Phish St) : P(X3st-D ' PIX SH -O''3)
"HR

-

i. faults -- def
.

Ez ,
H) - ddffxtt-DH)
= Fiat-O'

'

g.gf.lt-O
''s

= fxkt-D"') - lglt - if's

=

,
-

c g. e
- tht- o
''s

.



Name: PID: (P. 11)

5. (10 points) Let X ⇠ Exp(�). Compute the p.d.f. of the random variable 1
X+1 .
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